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Term 1 Homework 1 Intermediate

Use the websites suggested on the overview page to help complete these questions.

Your teacher will let you know when this homework is due. You will go over how to complete these to-

gether in class and then you have a go at the next homework which has similar questions.

This will increase your success in these topics in the Summer.

1) Write the following in standard form
(i) 32000
(i) 0.0032

Mathswatch clip 83

5) sove  8x+6=2(2x + 1)

Mathswatch clip 135a/135b

2) The mean of 5 numbers is 6. What was the

total of the 5 numbers?

Mathswatch clip 62

A kettle in a 20% off sale is
3) priced at £43.20.
Work out the original price.

Mathswatch 110

6) Work out the length of a

12cm a

17cm

Mathswatch clip 150a/150b

X2+ 9x + 20

4) Factorise

Mathswatch clip 157

Calculate x
60cm

i

46

7) Mathswatch clip 168



8) Solve the simultaneous equations:

3x+y-=1

x -2y =19

Mathswatch clip 162

12) A gold bracelet has a volume of 10cm®
The density of silver is silver is 19.3g

per cm®

Work out the mass of the gold bracelet.

Mathswatch clip 142

9) Calculate the mean

X frequency
15 4
16 15
17 2
18 0
19 4

Mathswatch clip 130a

13) X has been rounded to 4.8 to 1 decimal

place

Write down the error interval Mathswatch

<

clip 155

X <

14) Find the gradient of the line (rise over run) Mathswatch

e equation of the line y
5

o

- LY

<@ N -

clip 97

10) Estimate Mathswatch clip 91

48 + 54
13

15) Complete the table Mathswatch clip 186

11) Simplify Mathswatch clip 82/131

RV

(22)4 -

Px 3’

Weight, w, Lbs Frequency Cumulative

Freguency
Ocws? | 2
2<wsd 17
4wzt 24
bowss 23
8<w=10 10
10<w=12 4

16) Number of Sum Interior | Exterior Angle | Interior Angle

sides (regular)

Angles

4




Term 1 Homework 2 Intermediate

Use the websites suggested on the overview page to help complete these questions.

Your teacher will let you know when this homework is due. You will go over how to complete these to-

gether in class and then you have a go at the next homework which has similar questions.

This will increase your success in these topics in the Summer.

1) Write as an ordinary number
(i) 1.82x 103
(ii) 2.3 x 10 -2

Mathswatch clip 83

°) Sove 5x-6=2(2x-1)

Mathswatch clip 135a/135b

2) The mean of 8 numbers is 7 What
was the total of the 8 numbers?

Mathswatch clip 62

3) The cost of a roofing job including
20% VAT comes to £624.
Work out the price excluding VAT

Mathswatch 110

6) Calculate x

fcm Ocm

Mathswatch clip 150a/150b

4) Factorise

x> +5x +4

4) Factorise

Mathswatch clip 157

7)  Caleulate x

10cm

7) Mathswatch clip 168



8)  Solve the simultaneous equations
3x+2y=12
4x-y=5

Mathswatch clip 162

12) 428g of platinum has a volume of 20cm*
Work out the density of the platinum.

Mathswatch clip 142

9) Calculate an estimate for the mean

X frequency
0<x<10 16
10<x<20 7
20<x<30 4
30<x<40 0
40<x <50 3

Mathswatch clip 130a

13)
X has been rounded to 40 to the nearest

10m

Write down the error interval
Mathswatch clip

< X < 155

14) Find the gradient of the line (rise over run)

Mathswatch clip 97

equation of the line y

LY w » L

@ LY -

ES

1@) Estimate \athswatch clip 91

84 + 750
22

15) Complete the table Mathswatch clip 186

Weight, w, Lbs Frequency Cumulative

Freguency
Oows2 5
2ewsd 4
dew=h 3
Bowss 6
8<ws10 3
10=w=12 2

Mathswatch clip 82/131
11) Simplify

(35)2 =
29+2=

2°x2°=

16) Number of Sum Interior | Exterior Angle | Interior Angle




Term 1 Homework 3 Intermediate

Use the websites suggested on the overview page to help complete these questions.

Your teacher will let you know when this homework is due. You will go over how to complete these to-

gether in class and then you have a go at the next homework which has similar questions.

This will increase your success in these topics in the Summer.

1) Write in standard form
(i) 540
(ii) 0.00005

Mathswatch clip 83

5) Solve

6x+1=2(2x+1)

Mathswatch clip 135a/135b

2) The mean of 20 numbers is 4 What was
the total of the 10 numbers?

Mathswatch clip 62

3) A 1500m runner did a time of 5.12minutes
which was a 20% reduction in his original time.
What was his original time?

Mathswatch 110

6) Work out t

X

9cm

Mathswatch clip 150a/150b

4) Factorise

x? -7x+ 10

Mathswatch clip 157

7)  Calculate x

s - 7

X 6cm

e

7) Mathswatch clip 168




8)Solve the simultaneous equations:
3x+4y=5
x+2y=1

Mathswatch clip 162

12) Density = 672g/cm3

Volume = 1000cm3

Mathswatch clip 142

9) Calculate an estimated mean

X frequency

13) X has been rounded to 15 to the nearest

whole number

Write down the error interval

<

Mathswatch clip

X <

155

20<x <30 4

30<x<40 9

40<x <50 16

50<x<60 8

60<x<70 3

Mathswatch clip 130a

14) Find the gradient of the line (rise over run) Mathswatch

equation of the line y

S MNP & O

A b B 3

I3
o

clip 97

18) Estimate Mathswatch clip 91

524 + 195
23 —11

15) Complete the table Mathswatch clip 186

Mathswatch clip 82/131
11) Simplify

2° x 24 =

25x2=

16) Number of

Weight, w, Lbs Frequency Cumulative
Freguency
Ocws? | 2
2<wsd 17
4wzt 24
bowss 23
8<w=10 10
10<w=12 4
Sum Interior | Exterior Angle | Interior Angle




